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; 100kN/mM%#BZ % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mZ#B x5 — - ~ — — |3m%#B2% - ~ — — —
Zzh st 1.00 | 0.00 ~ 452 56.39 | Ehst | 0oo ~ 000|157 7.91 zh st 1.00 | 5.00 ~ 5.00 56.39 | =nLs | 5.00 ~ 5.00)|1.567 7.91
2 100kN/mM%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/m%Z#B 25 — - ~ — — |3m%#B2% - ~ — — —
ZThLLS 1.00 ] 000 ~ 519 64.68 | Thst | 000 ~ 000 1.67 7.91 zh st 1.00 | 5.00 ~ 6.04 64.68 | =nLS | 500 ~ 6.04 | 1.567 7.91
3 100kN/mM%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/m%Z#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh st 1.00 | 0.00 ~ 593 74.19 | =04 | 000 ~ 0.00] 1.68 847 Zzh st 1.00 | .00 ~ 6.78 7419 | =nS | 600 ~ 6.78 | 1.68 847
4 100kN/mM%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mZ#B x5 — - ~ — — |3m%#BZ2% - ~ — — —
zh st 1.00 | 0.00 ~ 6.63 83.70 | #hdst | 0oo ~ 663| 1.80 9.09 Zzh st 1.00 | 5.00 ~ 8.01 83.70 | #hs | 5.00 ~ 801 1.80 9.09
5 100kN/mM%#BZ % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mZ#B x5 — - ~ — — |3m%#B2% - ~ — — —
Zzh st 1.00 | 0.00 ~ 582 72.85 | =nLs | 000 ~ 0.00] 1.66 8.39 Zzh st 1.00 | 5.00 ~ 6.65 7285 | =nS | 600 ~ 6.65 )| 1.66 8.39
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zhst 1.00 | 0.00 ~ 6.94 87.92 | #nst | 000 ~ 694 1.81 9.14 zhst 1.00 | 5.00 ~ 8.63 87.92 | #hst | 6500 ~ 863 | 1.81 914
- 100kN/mM#Z#BZ % — -~ = —|3mZEBzDZ| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZE#BZS - ~ — — —
Zhs 1.00 | 000 ~ 694 87.92 | #hbList | 000 ~ 694| 1.81 9.14 Zh st 1.00|5.00 ~ 863 87.92 | #nst | 500 ~ 863|181 9.14
g 100kN/mM#%#BZ % — -~ = —|3mZzBz2Z| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZE#BZS - ~ — — —
Zhs 1.00 | 0.00 ~ 554 69.17 | Thst | 000 ~ 554|207 10.45 Zh st 1.00|5.00 ~ 7.46 69.17 | ThLS | 500 ~ 7.46 | 2.07 10.45
9 100kN/mM#Z#BZ % — -~ = —|3mZEBzZ| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZE#BZS - ~ — — —
Zhs 1.00 | 0.00 ~ 680 8599 | #FnLst | 000 ~ 680 1.83 9.27 Tnelst 1.00 | 5.00 ~ 842 85.99 | Fnst | 500 ~ 842 1.83 9.27
10 100kN/mM%#BZ % — -~ = —|3mZEBz2Z| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZE#BZS - ~ — — —
Zhs 1.00 | 0.00 ~ 680 8599 | #Fnhlst | 000 ~ 680 1.83 9.27 Tnelst 1.00 | 500 ~ 842 85.99 | Fnst | 500 ~ 842|183 9.27
17 100kN/m%#BZ % — -~ = —|3mZzBz2Z| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZEBZS - ~ — — —
Zhs 1.00 | 0.00 ~ 541 67.51 | #Fhist | 0oo ~ o0.00| 1.60 811 Tnelst 1.00 500 ~ 6.18 67.51 | ThES | 500 ~ 6.18 | 1.60 811
12 100kN/mM#%#BZ % — -~ = —|3mZEBz2Z| — ~ — — — | 100kN/m%Z#B 25 — - ~ — —|3mZEBZS - ~ — — —
zhs 1.00 | 0.00 ~ 558 69.70 | #Fhbist | 0.oo ~ o0.00|1.62 817 Zh st 1.00 | 5.00 ~ 6.41 69.70 | ThES | 500 ~ 6.41 | 1.62 817
13 100kN/mM%#EZ % — - ~ — —|3mZEEZE] — ~ — — — | 100kN/M%#8 25 — - ~ — — |3m%EEZ D - ~ — — —
zhs 1.00 | 0.00 ~ 347 43.91 | #Fhbs | 000 ~ 347|221 11.18 ThLLst 1.00 | 5.00 ~ 5.00 43.91 | ThES | 500 ~ 5.00 | 2.21 11.18
14 100kN/mM%#EZ % — - ~ — —|3mZEEZE] — ~ — — — | 100kN/M%#8 25 — - ~ — — |3m%EEZ D - ~ — — —
zhs 1.00 | 000 ~ 4.44 5545 | FnLs | 0.00 ~ 444|209 10.556 ThLlst 1.00 500 ~ 573 556.45 | ThES | 500 ~ 5.73 | 2.09 10.55
15 100kN/mM%#EZ % — -~ — —|3mZEEZE] — ~ — — — | 100kN/M%#8 25 — -~ — — |3mEEZD - ~ — — —
st 1.00 1 0.00 ~ 3.05 39.23 | #hdst | 0oo ~ 305|251 11.69 ZzhLs 1.00 | 5.00 ~ 5.00 39.23 | #hs | 5.00 ~ 5.00 | 231 11.69
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